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2N SAEA D
HaM: A Soles SAXLH(#HBES/AHA)
S QEAEH 22 (=EMH) (&)
S EB O (3H) - NEAY - BAS ofl &F 04 ﬁlgﬁ HDE2
T A&} 5,194,572 3,604,300 1,590,272
J| 3,579,572
= 1,615,000
Ao shcle 3 X8 (8F3ES/XA) 5,194,572 3,604,300 1,590,272
J| 3,579,572
= 1,615,000
QAZ2H 22 (=EIMA) 13,000 13,000 0
QAZSH D2 (FEINLMEESIH) 13,000 13,000 0
201 B2 H| 1,960 1,960 0
01 AFE 22| Hl 1,960 1,960 0
OLLIIA XA & QEEEH =& E201AH| 7,000 *4H »70 1,960
202 04 H| 11,040 11,040 0
01 = LHO{HI 11,040 11,040 0
OZUHOHHI(LEKAZTAL L B QASSH =2&) 20,000 *2H x17L x12& 8,160
OUH(E=2M a8 L JLHZRT) 160,000& *3H *63| 2,880
83 J=AE X & 2d(=2MA) 5,139,612 3,551,000 1,588,612
J| 3,537,612
- 1,602,000
EMEHS HElAE 29 545,560 1,085,560 A 540,000
J| 223,506
o 322,054
201 B2 A H| 560 190,560 A 190,000
01 AFR2t2l | 560 560 0
OJE2n ZEHAANM ol S20HAlY| 7,0008 %2% +402 560
206 M = 4| 45,000 90,000 AN 45,000




2AM: TAEZED
Y XY &Moot AL (BBES/NHY)
el B DA X Y 2 (LTNH) (sl &2
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t
Il 14,506
= 30,494
01 M= 4l 45,000 90,000 A 45,000
OJIZ2EZ ALY 45,000
—2ERA OIS AN 2 38) 45,000,000& 45,000
Il 14,506
= 30,494
401 Al & HI 2 2 0H I 20,000 45,000 A 25,000
I 10,000
= 10,000
01 Al &bl 20,000 45,000 A 25,000
OJIZ2EZ ALY 20,000
— =R BEXMAUAMNE B 20,000,000 *14] 20,000
Il 10,000
= 10,000
402 QI2ERt= 01 & 480,000 760,000 A 280,000
| 199,000
= 281,000
02 SI2HCH S AL I 480,000 760,000 A 280,000
OJIZ2EZ ALY 480,000
—JIE2k S3X2AE FE 22 330,000,000 =174 2~ 330,000
Il 109,000
= 221,000
— sk 33XMAAME =X /A2 80,000& x15&E*125& 150,000
J| 90,000
i 60,000
ot XMelAld 2Z 2,259,052 1,220,440 1,038,612
I 979,106




SN EASE D
HH: D BNGs BAXL(BALS/KW)
Sol: B JIEAL 21 ¥ 2Y(2RHA) ECH-E)
= = & E
BAH -3 -H2A(3H) - MEMY - BHAS Ofl At oH ‘Oﬂ,‘qﬁ Hlw &2+
= 1,279,946
201 LEr2 Y| 501,000 290,000 211,000
p] 227,000
= 274,000
02 2Bt 501,000 290,000 211,000
CBIELEINL= 501,000
—systaHAANL B 190,000, 0002 190,000
p] 82,000
= 108,000
— %%, B4 HEANL HIRD 44,000,00084 44,000
p] 20,000
= 24,000
—AR@SEHAANL HIIQ2 227,000,000%! 227,000
p] 107,000
= 120,000
-2zt =HAANE X Hel 40,000,00084 40,000
p] 18,000
= 22,000
206 T 2 4l 30,000 22,500 7,500
p] 5,000
= 25,000
REL 30,000 22,500 7,500
CEEEEINE= 30,000
~TMSARE 72 30,000,000 30,000
p] 5,000
= 25,000
207 &1 oKL bl 59,000 16,000 43,000
p] 15,000
z 44,000




A
X ZH -
=1

el

e >4
e =

o

sl
gNols XL (BLFES/IY)
ZAE EX 2 2E(=EMH)

SA-E O (BH) - NEAY - HLS Ol & 04 e IS 2t

01 HA3E A 59,000 16,000 43,000
OJIZ2EZ ALY 59,000
— MElSH A 1,000,000& x12& 12,000
| 5,000
= 7,000
— TMSE =& At 7,000,000& 7,000
J| 2,000
= 5,000
—ANE=E §ZEZ 89| 20,000,000& 20,000
| 3,000
= 17,000
— 330t=HMelAlE AT 2AH| 20,000,000& 20,000
J| 5,000
i 15,000

401 Al EHI L 20| 290,000 225,000 65,000
| 45,000
= 245,000

01 Al &8I 290,000 225,000 65,000
OJIZEZ ALY 290,000
—33otx=HeAld AES22 116,000,000& 116,000
| 20,000
= 96,000
—LRANEE NS 154,000,000& 154,000
J| 20,000
= 134,000
—ANE=E ZLFEZ0N OHE =& 20,000,000& 20,000
| 5,000
= 15,000

402 212HXH201 ™ 1,279,052 579,940 699,112




2AM: TAEZED
Y XY &Moot AL (BBES/NHY)
el B DA X Y 2 (LTNH) (sl &)
SH-EH.C(BH) - HRAY - BAS Ol &k 0 e HID S 2t
Il 637,106
= 641,946
02 QI 2HCH g At I 1,279,052 579,940 699,112
OJIZ2EZ ALY 1,279,052
—33ot=HMelAlE 212t &2l 1,279,052,000& 1,279,052
Il 637,106
= 641,946
403 XX St S =01 & 100,000 87,000 13,000
I 50,000
= 50,000
02 BJ| 2SOl CHSHCH & A HI 100,000 87,000 13,000
OJIZ2EZ ALY 100,000
—SEANAE 2ga 2E3(25ML) 100,000,000& 100,000
Il 50,000
= 50,000
g8 JIzAd &X 2,335,000 1,245,000 1,090,000
| 2,335,000
401 AIEBIZ 208l 2,335,000 1,245,000 1,090,000
J| 2,335,000
01 Al &H| 2,335,000 1,245,000 1,090,000
OJIZEZ AL 2,335,000
— BHU5t=2{ HHI AL (BTL) LHE QXA =82 164,000,000& 164,000
Il 164,000
— Yol E SEMY 893,000,000& 893,000
J| 893,000
— 8% Z2RA St=HelAlE EXAY 613,000,000& 613,000
| 613,000
— O EFHZ2RXNF sHEOtSot+=E FH AL 145,000,000& 145,000




M SAEZ D
H: AL ol BEELE(BZEES/HH)
ol B JIZAA 23 ¥ 29(STNA) R
SN ZE - BR(AA) - MRAY - B2 0l &t e RS2
Il 145,000
— MR OtSot== FHAE 83,000,000 83,000
Il 83,000
—N=S2X7 0tSot== FBIAS 66,000, 000& 66,000
Jl 66,000
— MRS 23522 FHIAY 53,000,000 53,000
Il 53,000
—Fd0tSot== EX3AM 208,000,000& 208,000
Il 208,000
—0oto SEFXF OtSot==& XA 110,000,000 110,000
Il 110,000
AABspA2(SENA) 41,960 40,300 1,660
Il 41,960
arFEs A2 41,960 40,300 1,660
J| 41,960
101 el A d| 3,335 0 3,335
Il 3,335
04 JIZtHZ22REE =+ 3,335 0 3,335
OJIsEBx=AY 3,335
—4AALS A BAFY 41,6802 %428 %102 +23] 3,335
J| 3,335
201 L Et2d | 6,225 0 6,225
Il 6,225
01 AR 2teltl 1,725 0 1,725
OJIsEBx=AY 1,725
—dEE2S Y MAYIISE 72 2,500% «6900H 1,725
Jl 1,725
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